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Starting from the stone the frog is sitting, it goes to three 

stones to eat insects. The number of insects below each 

stone is written on it. The frog can move only along lines. 

What path can he take to eat the number of insects given 

below? 

........... +........... +........... = 12 insects 

........... +........... +........... = 14 insects 

........... +........... +........... = 13 insects 

 

Q 2. Fill in the blanks: 

a. 35 +5=..........                  b. 25 +6=............ 

c. 43 +9 =...........                 d. 59+ 2=............ 

e.28 +...........=29                f. 72+........... = 72 


